
Y4 – Autumn – Block 1 – Step 13 – Negative numbers Answers

Question Answer

1

a) –2
b) –1, 0, 1
c) –4, –3, –2, –1, 0, 1
d) –9, –8, –7, –6, –5, –4, –3, –2

2

a) 4°C
b) 5°C
c) 1°C
d) 0°C
e) 4°C
f) 1°C

3

a) 4, 3, 2, 1, 0
b) 4, 2, 0, –2, –4
c) –4, –1, 2, 5, 8

4
Rosie has labelled in the wrong order. It should start at –8 on the left and end at –1 on the 
right.

5

a) 5, 0, –5
b) –4, –2, 0
c) –1, 1, 3             
d) –2, –5, –8
e) 0, –25, –50 

6
a) 13°C
b) –3°C

7
Teddy has missed 0
He should have said, “Three, two, one, zero, negative one, negative two …”

8

no
Whitney should not have said –7 and –17
She should have said –3 and –13 instead.
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